Rend. Mat. Appl. (7). Volume 43 (2022), 23 – 35

Arithmetic Properties For (r, s)-Regular Partition Functions With Distinct Parts

Rinchin Drema and Nipen Saikia*

Abstract. For any relatively prime integers r and s, let $a_{r,s}(n)$ denote the number of (r, s)-regular partitions of a positive integer of n into distinct parts. Prasad and Prasad (2018) proved many infinite families of congruences modulo 2 for $a_{3,5}(n)$. In this paper, we establish families of congruences modulo 2 and 4 for $a_{r,s}(n)$ with $(r,s) \in \{(2,5), (2,7), (4,5), (4,9)\}$. For example, we show that for all $\beta \geq 0$ and $n \geq 0$, we have

$$a_{2,5}\left(4 \cdot 5^{2\beta+1}n + \frac{37 \cdot 5^{2\beta} - 1}{6}\right) \equiv 0 \pmod{4}$$

1. Introduction

The partition of a positive integer n is a non-increasing sequence of positive integers whose sum is equal to n. If p(n) denote the number of partitions of a positive integer n and we adopt the convention p(0) = 1, then the generating function for p(n) satisfies the identity

$$\sum_{n=0}^{\infty} p(n)q^n = \frac{1}{(q;q)_{\infty}},$$
(1.1)

where

$$(a;q)_{\infty} = \prod_{n=0}^{\infty} (1 - aq^n).$$
(1.2)

Throughout this paper, we write

 $f_k := (q^k; q^k)_{\infty}$, for any integer $k \ge 1$.

Ramanujan [11] established the following beautiful congruences for all $n \ge 0$:

 $p(5n+4) \equiv 0 \pmod{5}, \quad p(7n+5) \equiv 0 \pmod{7} \text{ and } p(11n+6) \equiv 0 \pmod{11}.$

Ramanujan's congruences on p(n) have motivated many mathematicians to seek similar results for restricted partition functions. One example is the ℓ -regular

© The Author(s) 2021. This article is an open access publication.

²⁰²⁰ Mathematics Subject Classification: 11P83, 05A17.

Keywords: regular partition, distinct parts, q-series identities, Ramanujan's theta-functions.

^{*}Corresponding author

partition function $b_{\ell}(n)$, which counts the number of partitions of n in which no part is divisible by ℓ and whose generating function satisfies the identity

$$\sum_{n=0}^{\infty} b_{\ell}(n)q^n = \frac{f_{\ell}}{f_1}.$$
(1.3)

Many results on the arithmetic of $b_{\ell}(n)$ have been established (see, for example, [2, 9, 12]).

For relatively prime integers r and s, an (r, s)-regular partition is one in which none of the parts is divisible by r or s. Denote by $a_{r,s}(n)$, the number of (r, s)regular partitions of n into distinct parts. For example, $a_{2,5}(13) = 2$ since the (2, 5)-regular partitions of 13 into distinct parts are 13 and 9+3+1. The generating function for $a_{r,s}(n)$ satisfies the identity

$$\sum_{n=0}^{\infty} a_{r,s}(n)q^n = \frac{(-q;q)_{\infty}(-q^{rs};q^{rs})_{\infty}}{(-q^r;q^r)_{\infty}(-q^s;q^s)_{\infty}}.$$
(1.4)

Prasad and Prasad [10] proved many infinite families of congruences modulo 2 for $a_{3,5}(n)$.

In this paper, we establish families of congruences modulo 2 for $a_{2,5}(n)$, $a_{2,7}(n)$, $a_{4,5}(n)$ and $a_{4,9}(n)$. We also prove congruences modulo 4 for $a_{2,5}(n)$. The congruences are listed in the following theorems:

Theorem 1.1. For every $n \ge 0$, we have

$$a_{2,5}(4n+2) \equiv 0 \pmod{2} \tag{1.5}$$

and

$$a_{2,5}(4n) \equiv \begin{cases} 1 \pmod{2}, & if \ n \ is \ a \ pentagonal \ number \\ 0 \pmod{2}, & otherwise. \end{cases}$$
(1.6)

Theorem 1.2. Let p > 5 be a prime with $\left(\frac{-10}{p}\right) = -1$ and $1 \le j \le p-1$. Then for all $\gamma \ge 0$, we have

$$\sum_{n=0}^{\infty} a_{2,5} \left(4 \cdot p^{2\gamma} n + \frac{7 \cdot p^{2\gamma} - 1}{6} \right) q^n \equiv f_2 f_5 \pmod{2}, \tag{1.7}$$

$$a_{2,5}\left(4 \cdot p^{2\gamma+1}(pn+j) + \frac{7 \cdot p^{2\gamma+2} - 1}{6}\right) \equiv 0 \pmod{2},\tag{1.8}$$

$$\sum_{n=0}^{\infty} a_{2,5} \left(20 \cdot p^{2\gamma} n + \frac{55 \cdot p^{2\gamma} - 1}{6} \right) q^n \equiv f_1 f_{10} \pmod{2} \tag{1.9}$$

and

$$a_{2,5}\left(20 \cdot p^{2\gamma+1}(pn+j) + \frac{55 \cdot p^{2\gamma+2} - 1}{6}\right) \equiv 0 \pmod{2}.$$
 (1.10)

Theorem 1.3. If $w_1 \in \{13, 37\}$ and $w_3 \in \{41, 89\}$. Then for all $\beta \ge 0$, we have

$$\sum_{n=0}^{\infty} a_{2,5} \left(4 \cdot 5^{2\beta} n + \frac{13 \cdot 5^{2\beta} - 1}{6} \right) q^n \equiv 2q^2 f_1 f_{20}^3 \pmod{4}, \tag{1.11}$$

$$\sum_{n=0}^{\infty} a_{2,5} \left(4 \cdot 5^{2\beta+1} n + \frac{17 \cdot 5^{2\beta+1} - 1}{6} \right) q^n \equiv 2f_4^3 f_5 \pmod{4}, \tag{1.12}$$

$$a_{2,5}\left(4\cdot 5^{2\beta+1}n + \frac{w_1\cdot 5^{2\beta}-1}{6}\right) \equiv 0 \pmod{4}$$
(1.13)

and

$$a_{2,5}\left(4\cdot 5^{2(\beta+1)}n + \frac{w_3\cdot 5^{2\beta+1}-1}{6}\right) \equiv 0 \pmod{4}.$$
 (1.14)

Theorem 1.4. Let p > 7 be a prime with $\left(\frac{-14}{p}\right) = -1$ and $1 \le j \le p-1$. Then for all $\alpha \ge 0$, we have

$$\sum_{n=0}^{\infty} a_{2,7} \left(2 \cdot p^{2\alpha} n + \frac{5 \cdot p^{2\alpha} - 1}{4} \right) q^n \equiv f_1 f_{14} \pmod{2}, \tag{1.15}$$

$$a_{2,7}\left(2 \cdot p^{2\alpha+1}(pn+j) + \frac{5 \cdot p^{2\alpha+2} - 1}{4}\right) \equiv 0 \pmod{2},\tag{1.16}$$

$$\sum_{n=0}^{\infty} a_{2,7} \left(14 \cdot p^{2\alpha} n + \frac{21 \cdot p^{2\alpha} - 1}{4} \right) q^n \equiv f_2 f_7 \pmod{2} \tag{1.17}$$

and

$$a_{2,7}\left(14 \cdot p^{2\alpha+1}(pn+j) + \frac{21 \cdot p^{2\alpha+2} - 1}{4}\right) \equiv 0 \pmod{2}.$$
 (1.18)

Theorem 1.5. If $w \in \{13, 17\}$, then for all $\alpha \ge 0$, we have

$$\sum_{n=0}^{\infty} a_{4,5} \left(2 \cdot 5^{\alpha} n + \frac{5^{\alpha} - 1}{2} \right) q^n \equiv f_1 f_5 \pmod{2} \tag{1.19}$$

and

$$a_{4,5}\left(2\cdot 5^{\alpha+1}n + \frac{w\cdot 5^{\alpha}-1}{2}\right) \equiv 0 \pmod{2}.$$
 (1.20)

Theorem 1.6. Let p > 5 be a prime with $\left(\frac{-5}{p}\right) = -1$ and $1 \le j \le p - 1$. Then for all $\alpha \ge 0$, we have

$$\sum_{n=0}^{\infty} a_{4,5} \left(2 \cdot p^{2\alpha} n + \frac{p^{2\alpha} - 1}{2} \right) q^n \equiv f_1 f_5 \pmod{2} \tag{1.21}$$

and

$$a_{4,5}\left(2 \cdot p^{2\alpha+1}(pn+j) + \frac{p^{2\alpha+2}-1}{2}\right) \equiv 0 \pmod{2}.$$
 (1.22)

25

Theorem 1.7. Let $w_1 \in \{3, 5\}$, $w_2 \in \{13, 25, 37\}$ and $\alpha \ge 0$. Then

$$a_{4,9}(6n+w_1) \equiv 0 \pmod{2},$$
 (1.23)

$$a_{4,9}(24n+19) \equiv 0 \pmod{2},$$
 (1.24)

$$a_{4,9}\left(6\cdot 4^{\alpha+2}n+20\cdot 4^{\alpha+1}-1\right) \equiv 0 \pmod{2},\tag{1.25}$$

$$a_{4,9}(48n + w_2) \equiv 0 \pmod{2}$$
 (1.26)

and

$$a_{4,9}(48n+1) \equiv \begin{cases} 1 \pmod{2} & if \ n \ is \ a \ pentagonal \ number, \\ 0 \pmod{2} & otherwise. \end{cases}$$
(1.27)

2. Preliminaries

In this section, we collect the q-series identities that are used in our proofs. Recall that Ramanujan's general theta-function f(a, b) is defined by

$$f(a,b) = \sum_{n=-\infty}^{\infty} a^{n(n+1)/2} b^{n(n-1)/2}.$$
(2.1)

Important special cases of f(a, b) [1, p. 36, Entry 22 (i), (ii), (iii)] are the thetafunctions $\phi(q)$, $\psi(q)$ and f(-q), which satisfy the identities

$$\phi(q) := f(q,q) = \sum_{n=0}^{\infty} q^{n^2} = (-q;q^2)_{\infty}^2 (q^2;q^2)_{\infty} = \frac{f_2^5}{f_1^2 f_4^2},$$
(2.2)

$$\psi(q) := f(q, q^3) = \sum_{n=0}^{\infty} q^{n(n+1)/2} = \frac{(q^2; q^2)_{\infty}}{(q; q^2)_{\infty}} = \frac{f_2^2}{f_1},$$
(2.3)

and

$$f(-q) := f(-q, -q^2) = \sum_{n=0}^{\infty} (-1)^n q^{n(3n-1)/2} = (q;q)_{\infty} = f_1.$$
(2.4)

In terms of f(a, b), Jacobi's triple product identity [1, Entry 19, p.35] is given by

$$f(a,b) = (-a;ab)_{\infty}(-b;ab)_{\infty}(ab;ab)_{\infty}.$$
(2.5)

Lemma 2.1 ([3, Theorem 2.2]). For any prime $p \ge 5$, we have

$$f_{1} = \sum_{\substack{k=-(p-1)/2\\k\neq(p^{*}-1)/6}}^{k=(p-1)/2} (-1)^{k} q^{(3k^{2}+k)/2} f\left(-q^{(3p^{2}+(6k+1)p)/2}, -q^{(3p^{2}-(6k+1)p)/2}\right) + (-1)^{(p^{*}-1)/6} q^{(p^{2}-1)/24} f_{p^{2}},$$

$$(2.6)$$

where

$$p^* = \begin{cases} p, & if \ p \equiv 1 \pmod{6} \\ -p, & if \ p \equiv 5 \pmod{6}. \end{cases}$$

Furthermore, if

$$\frac{-(p-1)}{2} \le k \le \frac{(p-1)}{2} \text{ and } k \ne \frac{(p^*-1)}{6},$$

then

$$\frac{3k^2 + k}{2} \not\equiv \frac{p^2 - 1}{24} \pmod{p}.$$

Lemma 2.2 ([1, p. 303, Entry 17(v)]). We have that

$$f_1 = f_{49} \left(\frac{B(q^7)}{C(q^7)} - q \frac{A(q^7)}{B(q^7)} - q^2 + q^5 \frac{C(q^7)}{A(q^7)} \right),$$
(2.7)

where $A(q) = f(-q^3, -q^4)$, $B(q) = f(-q^2, -q^5)$ and $C(q) = f(-q, -q^6)$. Lemma 2.3 ([5]). We have that

$$f_1 = f_{25}(R(q^5) - q - q^2 R(q^5)^{-1}),$$
(2.8)

where

$$R(q) = \frac{(q^2; q^5)_{\infty}(q^3; q^5)_{\infty}}{(q; q^5)_{\infty}(q^4; q^5)_{\infty}}.$$

Lemma 2.4. We have

$$\frac{1}{f_1^2} = \frac{f_8^5}{f_2^5 f_{16}^2} + 2q \frac{f_4^2 f_{16}^2}{f_2^5 f_8},\tag{2.9}$$

$$\frac{f_9}{f_1} = \frac{f_{12}^3 f_{18}}{f_2^2 f_6 f_{36}} + q \frac{f_4^2 f_6 f_{36}}{f_2^3 f_{12}},\tag{2.10}$$

$$f_1 f_5^3 = f_2^3 f_{10} - q \frac{f_2^2 f_{10}^2 f_{20}}{f_4} + 2q^2 f_4 f_{20}^3 - 2q^3 \frac{f_4^4 f_{10} f_{40}^2}{f_2 f_8^2}, \qquad (2.11)$$

$$\frac{f_5}{f_1} = \frac{f_8 f_{20}^2}{f_2^2 f_{40}} + q \frac{f_4^3 f_{10} f_{40}}{f_2^3 f_8 f_{20}},\tag{2.12}$$

$$\frac{f_3^3}{f_1} = \frac{f_4^3 f_6^2}{f_2^2 f_{12}} + q \frac{f_{12}^3}{f_4}, \tag{2.13}$$

$$f_1 f_7 = \frac{f_2 f_{14} f_{16}^2 f_{56}^5}{f_4 f_8 f_{28}^3 f_{112}^2} - q f_4 f_{28} + q^6 \frac{f_2 f_8^5 f_{14} f_{112}^2}{f_4^3 f_{16}^2 f_{28} f_{56}}.$$
 (2.14)

For the proof of (2.9), see Hirschhorn [7, p.40]. Equation (2.10) was proved by Xia and Yao [13]. For the proof of (2.11), see Naika et.al [8]. Equation (2.12) was proved by Hirschhorn and Sellers [6]. Equation (2.13) was proved by Hirschhorn et.al [4]. Equation (2.14) was proved by Xia [14, Lemma 3.14].

To end this section, we record the following congruence which can be easily proved using the binomial theorem: For all positive integers t and m we have

$$f_t^{2m} \equiv f_{2t}^m \pmod{2}.$$
 (2.15)

3. Proof of Theorems 1.1-1.3

Proof of Theorem 1.1:

Proof. Setting (r, s) = (2, 5) in (1.4) and using elementary q-operations, we obtain

$$\sum_{n=0}^{\infty} a_{2,5}(n)q^n = \frac{f_2^2 f_5 f_{20}}{f_1 f_4 f_{10}^2}.$$
(3.1)

Combining (2.12) and (3.1), we find that

$$\sum_{n=0}^{\infty} a_{2,5}(n)q^n = \frac{f_8 f_{20}^3}{f_4 f_{10}^2 f_{40}} + q \frac{f_4^2 f_{40}}{f_2 f_8 f_{10}}.$$
(3.2)

Extracting the terms involving even powers of q of (3.2), we obtain

$$\sum_{n=0}^{\infty} a_{2,5}(2n)q^n = \frac{f_4 f_{10}^3}{f_2 f_5^2 f_{20}}.$$
(3.3)

In view of (2.15), (3.3) can be written as

$$\sum_{n=0}^{\infty} a_{2,5}(2n)q^n \equiv f_2 \pmod{2}.$$
 (3.4)

Extracting the terms involving odd powers of q from (3.4) yields (1.5). Finally, extracting the terms involving even powers of q from both sides of (3.4) and using (2.4) yields (1.6).

Proof of Theorem 1.2:

Proof. Extracting the terms involving odd powers of q from both sides of (3.2), we obtain

$$\sum_{n=0}^{\infty} a_{2,5}(2n+1)q^n = \frac{f_2^2 f_{20}}{f_1 f_4 f_5}.$$
(3.5)

In view of (2.15), we can rewrite (3.5) as

$$\sum_{n=0}^{\infty} a_{2,5}(2n+1)q^n \equiv \frac{f_1 f_5^3}{f_2} \pmod{2}.$$
 (3.6)

Combining (2.11) and (3.6), we find that

$$\sum_{n=0}^{\infty} a_{2,5}(2n+1)q^n \equiv f_2^2 f_{10} - q \frac{f_2 f_{10}^2 f_{20}}{f_4} \pmod{2}.$$
 (3.7)

Extracting the terms involving even powers of q from both sides of (3.7), we obtain

$$\sum_{n=0}^{\infty} a_{2,5}(4n+1)q^n \equiv f_2 f_5 \pmod{2}.$$
(3.8)

Equation (3.8) is the $\gamma = 0$ case of (1.7). Now suppose that (1.7) holds for some $\gamma \geq 0$. Using (2.6) in (1.7), we deduce that

$$\sum_{n\geq 0}^{\infty} a_{2,5} \left(4 \cdot p^{2\gamma} n + \frac{7 \cdot p^{2\gamma} - 1}{6} \right) q^n$$

$$\equiv \left[\sum_{\substack{k=-(p-1)/2\\k\neq (p^*-1)/6}}^{k=(p-1)/2} q^{3k^2 + k} f\left(-q^{3p^2 + (6k+1)p}, -q^{3p^2 - (6k+1)p}\right) + q^{(p^2 - 1)/2} f_{2p^2} \right]$$

$$\times \left[\sum_{\substack{m=-(p-1)/2\\m\neq (p^*-1)/6}}^{m=(p-1)/2} q^{5(3m^2 + m)/2} f\left(-q^{5(3p^2 + (6m+1)p)/2}, -q^{5(3p^2 - (6m+1)p)/2}\right) + q^{5(p^2 - 1)/24} f_{5p^2} \right] \pmod{2}. \quad (3.9)$$

Consider the congruence

$$3k^2 + k + 5\frac{(3m^2 + m)}{2} \equiv \frac{7(p^2 - 1)}{24} \pmod{p},$$

which is equivalent to

$$(12k+2)^2 + 10(6m+1)^2 \equiv 0 \pmod{p}.$$

Since $\left(\frac{-10}{p}\right) = -1$, the only solution of this congruence is $k = m = \frac{(p^* - 1)}{6}$. Therefore, extracting the terms involving $q^{pn+7(p^2-1)/24}$ from both sides of (3.9), dividing by $q^{7(p^2-1)/24}$ and then replacing q^p by q, we find that

$$\sum_{n=0}^{\infty} a_{2,5} \left(4 \cdot p^{2\gamma+1} n + \frac{7 \cdot p^{2\gamma+2} - 1}{6} \right) q^n \equiv f_{2p} f_{5p} \pmod{2}, \tag{3.10}$$

which yields

$$\sum_{n=0}^{\infty} a_{2,5} \left(4 \cdot p^{2(\gamma+1)} n + \frac{7 \cdot p^{2(\gamma+1)} - 1}{6} \right) q^n \equiv f_2 f_5 \pmod{2}, \tag{3.11}$$

which is the $\gamma + 1$ case of (1.7). On the other hand, extracting the terms involving q^{pn+j} $(1 \le j \le p-1)$ from (3.10), we arrive at (1.8). Employing (2.8) in (1.7) and then extracting the terms involving q^{5n+2} yields (1.9). Next, using (2.6) in (1.9) and proceeding as in the proof of (1.7), we arrive at

$$\sum_{n=0}^{\infty} a_{2,5} \left(20 \cdot p^{2\gamma+1} n + \frac{55 \cdot p^{2\gamma+2} - 1}{6} \right) q^n \equiv f_p f_{10p} \pmod{2}. \tag{3.12}$$

Finally, (1.10) follows from extracting the terms involving q^{pn+j} $(1 \le j \le p-1)$ from (3.12).

Proof of Theorem 1.3:

Proof. Combining (2.9) and (3.3), we find that

$$\sum_{n=0}^{\infty} a_{2,5}(2n)q^n = \frac{f_4 f_{40}^5}{f_2 f_{10}^2 f_{20} f_{80}^2} + 2q^5 \frac{f_4 f_{20} f_{80}^2}{f_2 f_{10}^2 f_{40}}.$$
(3.13)

Extracting the terms involving odd powers of q from both sides of (3.13), we obtain

$$\sum_{n=0}^{\infty} a_{2,5}(4n+2)q^n = 2q^2 \frac{f_2 f_{10} f_{40}^2}{f_1 f_5^2 f_{20}}.$$
(3.14)

In view of (2.15), (3.14) can be written as

$$\sum_{n=0}^{\infty} a_{2,5}(4n+2)q^n \equiv 2q^2 f_1 f_{20}^3 \pmod{4}, \tag{3.15}$$

which is the $\beta = 0$ case of (1.11). Now assume that (1.11) holds for some $\beta \ge 0$. Employing (2.8) in (1.11), we arrive at

$$\sum_{n=0}^{\infty} a_{2,5} \left(4 \cdot 5^{2\beta} n + \frac{13 \cdot 5^{2\beta} - 1}{6} \right) q^n \equiv 2q^2 f_{20}^3 f_{25} \left(R(q^5) - q - q^2 R(q^5)^{-1} \right) \pmod{4}.$$
(3.16)

Extracting the terms involving q^{5n+3} from (3.16) yields (1.12). Next, using (2.8) in (1.12) and then extracting the terms involving q^{5n+2} , we obtain

$$\sum_{n=0}^{\infty} a_{2,5} \left(4 \cdot 5^{2(\beta+1)} n + \frac{13 \cdot 5^{2(\beta+1)} - 1}{6} \right) q^n \equiv 2q^2 f_1 f_{20}^3 \pmod{4}, \qquad (3.17)$$

which is the $\beta + 1$ case of (1.11). Employing (2.8) in (1.11) and then extracting the terms involving q^{5n+j} for $j \in \{0,1\}$ yields (1.13). Finally, using (2.8) in (1.12) and then extracting terms involving q^{5n+j} for $j \in \{1,3\}$ yields (1.14).

4. Proof of Theorem 1.4

Proof. Setting (r, s) = (2, 7) in (1.4) and using elementary q-operations, we have

$$\sum_{n=0}^{\infty} a_{2,7}(n)q^n = \frac{f_2^2 f_7 f_{28}}{f_1 f_4 f_{14}^2}.$$
(4.1)

In view of (2.15), we can rewrite (4.1) as

$$\sum_{n=0}^{\infty} a_{2,7}(n)q^n \equiv \frac{f_1 f_7}{f_2} \pmod{2}.$$
(4.2)

Combining (2.14) and (4.2), we find that

$$\sum_{n=0}^{\infty} a_{2,7}(n)q^n \equiv \frac{f_{14}f_{16}^2f_{56}^5}{f_4f_8f_{28}^3f_{112}^2} - q\frac{f_4f_{28}}{f_2} + q^6\frac{f_8^5f_{14}f_{112}^2}{f_4^3f_{16}^2f_{28}f_{56}} \pmod{2}.$$
(4.3)

Extracting the terms involving odd powers of q from both sides of (4.3), we obtain

$$\sum_{n=0}^{\infty} a_{2,7}(2n+1)q^n \equiv f_1 f_{14} \pmod{2},\tag{4.4}$$

which is the $\alpha = 0$ case of (1.15). Using (2.6) in (1.15) and proceeding as in the proof of (1.7), we arrive at

$$\sum_{n=0}^{\infty} a_{2,7} \left(2 \cdot p^{2\alpha+1} n + \frac{5 \cdot p^{2\alpha+2} - 1}{4} \right) q^n \equiv f_p f_{14p} \pmod{2}, \tag{4.5}$$

which yields

$$\sum_{n=0}^{\infty} a_{2,7} \left(2 \cdot p^{2(\alpha+1)} n + \frac{5 \cdot p^{2(\alpha+1)} - 1}{4} \right) q^n \equiv f_1 f_{14} \pmod{2}, \tag{4.6}$$

which is the $\alpha + 1$ case of (1.15). On the other hand, extracting the terms involving q^{pn+j} $(1 \le j \le p-1)$ from (4.5), we arrive at (1.16). Next, using (2.7) in (1.15) and then extracting the terms involving q^{7n+2} yields (1.17). Now employing (2.6) in (1.17) and proceeding as in the proof of (1.15), we arrive at

$$\sum_{n=0}^{\infty} a_{2,7} \Big(14 \cdot p^{2\gamma+1} n + \frac{21 \cdot p^{2\gamma+2} - 1}{4} \Big) q^n \equiv f_{2p} f_{7p} \pmod{2}. \tag{4.7}$$

Finally, (1.18) follows from extracting the terms involving $q^{pn+j} (1 \le j \le p-1)$ from (4.7).

31

5. Proof of Theorems 1.5-1.6

Proof of Theorem 1.5:

Proof. Setting (r, s) = (4, 5) in (1.4) and using elementary q-operations, we obtain

$$\sum_{n=0}^{\infty} a_{4,5}(n)q^n = \frac{f_2 f_4 f_5 f_{40}}{f_1 f_8 f_{10} f_{20}}.$$
(5.1)

Combining (2.12) and (5.1), we find that

$$\sum_{n=0}^{\infty} a_{4,5}(n)q^n = \frac{f_4 f_{20}}{f_2 f_{10}} + q \frac{f_4^4 f_{40}^2}{f_2^2 f_8^2 f_{20}^2}.$$
(5.2)

Extracting the terms involving even powers of q from both sides of (5.2), we obtain

$$\sum_{n=0}^{\infty} a_{4,5}(2n)q^n = \frac{f_2 f_{10}}{f_1 f_5}.$$
(5.3)

In view of (2.15), we can rewrite (5.3) as

$$\sum_{n=0}^{\infty} a_{4,5}(2n)q^n \equiv f_1 f_5 \pmod{2},$$
(5.4)

which is the $\alpha = 0$ case of (1.19). Now assume that (1.19) holds for some $\alpha \ge 0$. Using (2.8) in (1.19), we find that

$$\sum_{n=0}^{\infty} a_{4,5} \left(2 \cdot 5^{\alpha} n + \frac{5^{\alpha} - 1}{2} \right) q^n \equiv f_5 f_{25} \left(R(q^5) - q - q^2 R(q^5)^{-1} \right) \pmod{2}.$$
(5.5)

Extracting the terms involving q^{5n+1} from both sides of (5.5), we arrive at

$$\sum_{n=0}^{\infty} a_{4,5} \Big(2 \cdot 5^{\alpha+1} n + \frac{5^{\alpha+1} - 1}{2} \Big) q^n \equiv f_1 f_5 \pmod{2}, \tag{5.6}$$

which is the $\alpha + 1$ case of (1.19). Finally, using (2.8) in (1.19) and then extracting the terms involving q^{5n+j} for $j \in \{3, 4\}$ yields (1.20).

Proof of Theorem 1.6:

Proof. Congruence (5.4) is the $\alpha = 0$ case of (1.21). Now suppose that (1.21) holds for some $\alpha \geq 0$. Using (2.6) in (1.21) and proceeding as in the proof of (1.7), we arrive at

$$\sum_{n=0}^{\infty} a_{4,5} \Big(2 \cdot p^{2\alpha+1} n + \frac{p^{2\alpha+2} - 1}{2} \Big) q^n \equiv f_p f_{5p} \pmod{2}, \tag{5.7}$$

which yields

$$\sum_{n=0}^{\infty} a_{4,5} \left(2 \cdot p^{2(\alpha+1)} n + \frac{p^{2(\alpha+1)} - 1}{2} \right) q^n \equiv f_1 f_5 \pmod{2}, \tag{5.8}$$

which is the case $\alpha + 1$ of (1.21). On the other hand, extracting the terms involving $q^{pn+j} (1 \le j \le p-1)$ from (5.7), we arrive at (1.22).

6. Proof of Theorem 1.7

Proof. Setting (r, s) = (4, 9) in (1.4) and using elementary q-operations, we obtain

$$\sum_{n=0}^{\infty} a_{4,9}(n)q^n = \frac{f_2 f_4 f_9 f_{72}}{f_1 f_8 f_{18} f_{36}}.$$
(6.1)

Combining (2.10) and (6.1), we find that

$$\sum_{n=0}^{\infty} a_{4,9}(n)q^n = \frac{f_4 f_{12}^3 f_{72}}{f_2 f_6 f_8 f_{36}^2} + q \frac{f_4^3 f_6 f_{72}}{f_2^2 f_8 f_{12} f_{18}}.$$
(6.2)

Extracting the terms involving odd powers of q from (6.2) and then employing (2.15), we obtain

$$\sum_{n=0}^{\infty} a_{4,9}(2n+1)q^n \equiv \frac{f_9^3}{f_3} \pmod{2}.$$
(6.3)

Comparing the terms involving q^{3n+j} , for $j \in \{1,2\}$ from both sides of (6.3) yields (1.23). Next, extracting the terms involving q^{3n} from both sides of (6.3), we obtain

$$\sum_{n=0}^{\infty} a_{4,9}(6n+1)q^n \equiv \frac{f_3^3}{f_1} \pmod{2}.$$
(6.4)

Combining (2.13) and (6.4), we find that

$$\sum_{n=0}^{\infty} a_{4,9}(6n+1)q^n \equiv \frac{f_4^3 f_6^2}{f_2^2 f_{12}} + q \frac{f_{12}^3}{f_4} \pmod{2}.$$
(6.5)

Extracting the terms involving odd powers of q from (6.5), we obtain

$$\sum_{n=0}^{\infty} a_{4,9}(12n+7)q^n \equiv \frac{f_6^3}{f_2} \pmod{2}.$$
 (6.6)

Extracting the terms involving odd powers of q from (6.6) yields (1.24). Next, extracting the terms involving even powers of q from both sides of (6.6), we obtain

$$\sum_{n=0}^{\infty} a_{4,9}(24n+7)q^n \equiv \frac{f_3^3}{f_1} \pmod{2}.$$
(6.7)

Combining (6.4) and (6.7), we find that

$$a_{4,9}(24n+7) \equiv a_{4,9}(6n+1) \pmod{2}.$$
 (6.8)

From (6.8) and by mathematical induction, we have

$$a_{4,9}\left(6\cdot 4^{\alpha+1}n+2\cdot 4^{\alpha+1}-1\right) \equiv a_{4,9}(6n+1) \pmod{2}.$$
(6.9)

Using (6.9) and congruence (1.24), we arrive at (1.25). On the other hand, extracting the terms involving even powers of q from both sides of (6.5), we obtain

$$\sum_{n=0}^{\infty} a_{4,9} (12n+1)q^n \equiv f_4 \pmod{2}.$$
(6.10)

Extracting the terms involving q^{4n+j} for $j \in \{1, 2, 3\}$ from (6.10) yields (1.26). On the other hand, extracting the terms involving q^{4n} from both sides of (6.10) and using (2.4) yields (1.27).

Acknowledgements. The authors are thankful to the referee for his/her comments which improves the quality of the paper. The first author thanks University Grants Commission (UGC) of India for supporting her research work through Junior Research Fellowship (JRF) vide UGC-Ref.no. 1107/CSIR-UGC NET DEC-2018.

References

- [1] Berndt, B. C.: Ramanujan's Notebook Part III. Springer-verlag, New york, (1991)
- [2] Calkin, N., Drake, N., James, K., Law, S., Lee, P., Penniston, D., Radder, J.: Divisibility properties of the 5-regular and 13-regular partition functions. Integers 8, (2008) #A60
- [3] Cui, S. P. and Gu, N. S. S.: Arithmetic properties of *l*-regular partitions. Adv. Appl. Math. 51, 507-523 (2013)
- [4] Hirschhorn, M. D., Garvan, F., Borwein, J.: Cubic analogs of the Jacobian cubic theta functions Θ(z, q). Canad. J. Math. 45, 673-694 (1993)
- [5] Hirschhorn, M. D.: An identity of Ramanujan and Applications, in q-series from a Contemporary Perspective, Contemporary Mathematics. Amer. Math. Soc. 254, (2000)
- [6] Hirschhorn, M. D., Sellers, J. A.: Elementary proofs of parity results for 5-regular partitions. Bull. Aust. Math. Soc. 81, 58-63 (2010), doi:10.1017/S0004972709000525
- [7] Hirschhorn, M. D.: The Power of q. A Personal Journey, Developments in Mathematics. 49, Springer, (2017)
- [8] Naika, M. S. M., Hemanthkumar, B., Sumanth Bharadwaj, H. S.: Color partition identities arising from Ramanujan's theta functions. Acta Math. Vietnam. 41(4), 633-660 (2016)
- [9] Penniston, D.: Arithmetic of ℓ-regular partition functions. Int. J. Number Theory 4, 295-302 (2008)
- [10] Prasad, M., Prasad, K. V.: On (ℓ, m) -regular partitions with distinct parts. Ramanujan J. **46**, 19-27 (2018)
- [11] Ramanujan, S.: Some properties of p(n), the number of partition of n. Math. Proc. Cambridge Philos. Soc. **19**, 207-210 (1919)
- [12] Webb, J. J.: Arithmetic of the 13-regular partition function modulo 3. Ramanujan J. 25, 49-56 (2011)

- [13] Xia, E. X. W., Yao, O. X. M.: Some modular relations for the Göllnitz-Gordon functions by an even-odd method. J. Math. Anal. Appl. 387, 126-138 (2012)
- [14] Xia, E. X. W.: New congruences modulo powers of 2 for broken 3-diamond partitions and 7-core partitions. J. Number Theory 141, 119-135 (2014)

Received: 8 April 2021/Accepted: 22 June 2021/Published online: 28 June 2021

Rinchin Drema

Department of Mathematics, Rajiv Gandhi University, Rono Hills, Doimukh, Arunachal Pradesh, India, Pin-79111.

dremarinchin3@gmail.com

Nipen Saikia

Department of Mathematics, Rajiv Gandhi University, Rono Hills, Doimukh, Arunachal Pradesh, India, Pin-79111.

nipennak@yahoo.com

Open Access. This article is distributed under the terms of the Creative Commons Attribution 4.0 International License (http://creativecommons.org/licenses/by/4.0/), which permits unrestricted use, distribution, and reproduction in any medium, provided you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons license, and indicate if changes were made.